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NAME: Kharindaarin (Prakrit)
Skandakam (Sanskrit)
Kandarn (Kannada)

Aryagitib (Sanskrit)

STRUCTURE:

1. One line of 32 moras, organized into 8 groups.

2. Another line of identical structure.
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The kbamdaar is identical to the gaha, except:

b

% it is acatalectic, that is, it has a ftull eight

groups in each line, instead of stopping before

the final iteration of the eighth group.

T

% it is symmetrical, that is, the two halves (or

lines) are structurally identical to each other.
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Because the final syllable still always counts

as heavy, the eighth group—although even,

and thus in principle allowing a syncopated

rhythm—must always take the

unsyncopated forms IS or SS.
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janai sinéha-bbaniarn ma raaniari tti mé juucchasu vaanam

ujjanammi vanammi a jam surabim tarin laana genbai kusuman
|Setubandba 11.119]
Don’t despise the words

that I speak to you out of aftection, Sita,
just because I am a Raksasi.
You pick a flower oft a vine

because it smells good,

whether it grows in a garden or the forest.
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janai sineba-bhaniar ma raaniari tti me juucchasu vaanam
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janai sineba-bhaniar ma raaniari tti me juucchasu vaanam
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janai sineba-bhaniar ma raaniari tti me juucchasu vaanam
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janai sineba-bhaniar ma raaniari tti me juucchasu vaanam
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janai sineba-bhaniar ma raaniari tti me juucchasu vaanam
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janai sineba-bhaniar ma raaniari tti me juucchasu vaanam
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janai sineba-bhaniar ma raaniari tti me juucchasu vaanam
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janai sineba-bhaniar ma raaniari tti me juucchasu vaanam
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ujjanammi vanammi a jam surabim tari laana genbai kusuman
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ujjanammi vanammi a jam surabim tari laana genbai kusuman
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ujjanammi vanammi a jam surabim tari laana genbai kusuman
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ujjanammi vanammi a jam surabim tari laana genbai kusuman
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ujjanammi vanammi a jam surabim tari laana genbai kusuman
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ujjanammi vanammi a jam surabim tari laana genbai kusuman
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ujjanammi vanammi a jam surabim tari laana genbai kusuman
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ujjanammi vanammi a jam surabim tari laana genbai kusuman
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